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Segments Review Day 2- In Class

Directions: Use the number line for questions 1-3 to determine lengths of segments.
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Find the value of x in each diagram.
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6. Find the measure o@)f B is the midpoint of AC, AB = 3x2 + 2x —15, BC = x2 - 5x ~ 20.
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Check your work HERE:
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Use the diagram below to complete exercises 8-11.
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Midpoints with Algebra: In each diagram, M is the midpoint of the segment. Find the
indicated length. : s
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Segment Addition with Algebra: Find x and the indicated lengths. o
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12. M is between Land N. If LM = x? + 22x + 3, LN = 24, and MN = 2x? + 28, find the value(s) of
x, and the length(s) of LM and MN.
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